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1.
Steel warehoused in Denver and Chicago is needed in Minneapolis, Omaha, and Oklahoma City.  The table below shows the shipping costs per ton for each possible route. Also shown in parentheses are the amounts available and required at each location.  

a) Find the minimum cost to supply all needs.  Trucking contracts require that at least 30 percent of all steel be shipped from Denver and 30 percent from Chicago.  

b) What, if any, would be the savings if the trucking contract requiring 30 percent shipping from Denver and 30 percent from Chicago were dismissed?

	From
	
	To
	

	
	Minn (600)
	Omaha (300)
	OKC (100)

	Denver (800)
	6.00
	4.80
	5.80

	Chicago (700)
	3.50
	3.80
	5.30


Solve

· Using Excel Solver

2. 
An electronics firm has 12,000 employee-hours per day for the production of Pocket PCs, GPSs, and cell phones.  By license agreement the firm can only manufacture ten cell phones per day.  The firm must also deliver a minimum of 50 Pocket PCs per day to satisfy an existing contract.  Furthermore, each product must pass through the certification and quality assurance facility that is limited to 800 employee-hours of work per day.  Each GPS requires two hours in the certification and quality facility; each Pocket PCs 3 hours; and each cell phone 1 hour.  Each Pocket PC, GPS, and cell phone requires 11, 7, and 5.5 employee-hours, respectively, to produce.  If each Pocket PCs, GPS, and cell phone returns a profit of $105, $54, and $40, respectively, how many of each item should the firm produce to maximize its income, how much of each resource is left unused, and what is the firm's profit?

Solve

· Using Excel Solver

* Spreadsheet ok for calculations but not Solver.

